Embedded Systems / Model-Based Design

Written exam – February 27 2013
Q1.
Compute the composition of machines A, B and C. 


[image: image1]
Q2.
Define the FSMs that realizes the following description.
The system has a binary input (values 0,1), a and two outputs c0 and c1. The pair c0 and c1 is the binary encoding modulo 4 of the number of pairs 1,0 received on the input a. 
Q3.
Provide a C code implementation of the previous machine. 
Q4.
Provide a set of input values that realizes boundary testing and robustness testing for the following system S.

The system S computes the minimum or maximum point (x,y) for the function y=ax2+bx+c where

a, b and c are integers with values in the ranges a([-10, 10], b([-100, 100], c([-200, 200] 
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